Multiplication et Division par 10> (C)

Trouvez chaque produit ou quotient.

38 x 103 = 42 +10% =
88 + 103 = 53 + 10% =
94 x 103 = 6 =103 =

54 %X 10° = 24 +10% =
53 x 10% = 100 x 103 =
9+10°= 93 x 10° =
10 x 10% = 86 + 10° =
4+ 103 = 96 x 103 =
1x103= 95 x 103 =
72 - 103 = 30 ~ 103 =
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Multiplication et Division par 10> (C) Solutions

Trouvez chaque produit ou quotient.

38 x 10° =38 000 42 +10°=0,042

88 ~ 10° = 0,088 53 +10°=0,053

94 x 10° =94 000 6 +10%=10,006

54 x 10° =54 000 24 +10%°=10,024

53 x 10° =53 000 100 x 10° =100 000
9 +10°=0,009 93 x 10° =93 000
10 x 10° =10 000 86 + 10° = 0,086

4 +10°=0,004 96 x 10° =96 000
1x10°*=1000 95 x 10° =95 000
72 +10°=0,072 30 +10°=0,03
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